
Rieš rovnice a urob skúšku.                                      

15 + a = 95 skúška: 

  

  
 

32 + b = 80 skúška: 

  

  
 

48 + c = 56 skúška: 

  

  
 

21 + d = 63 skúška: 

  

  
 

e + 56 = 78 skúška: 

  

  
 

f + 46 = 87 skúška: 

  

  
 

g + 39 = 48 skúška: 

  

  
 

 

 

18 + a = 45 skúška: 

  



  
 

19 + b = 73 skúška: 

  

  
 

26 + c = 95 skúška: 

  

  
 

d + 44 = 73 skúška: 

  

  
 

e + 59 = 61 skúška: 

  

  
 

f + 74 = 99 skúška: 

  

  
 

35 + g = 82 skúška: 

  

  
 

14 + h = 70 skúška: 

  

  
 

 


